Solutions sheet No. 103

Tangent Ratio
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Find the value of the pronumerals in each of the following, correct to 1 dec. pl. where necessary;





25





43°12’





a





90





c





64°30’





75





40°50’





d





200





32°40’





e





60





67°25’





b





325





46°24’





g





60 





33°48’





j





300





43°52’





i





160 





35°48’





f





800 





44°38’





h





220





64°16’





l





250





m





23°49’





300





46°37’





p





1200





27°22’





n





450





k





22°8’





4.8





51°15’





r





5000





48°31’





u





300





36°47’





s





105





26°43’





q





675





t





60°51’








